Id

Question g&r afer [ede & IIT FITST|
Heled

A ;qg’r +ag

B AT + 30T

C HETT + 36T

D AT + 3¢

Answer D

Id 2

Question | gHTE” erec T 37T &-

A qaq

B = 03]

C fecqufy

D IR

Answer A

Id 3

Question Gy gt @1 wRiteT et ereg # E g3 & 2

AL R

B s

C IR

D feer

Answer B




Id 4

Question goigart ersg & TIT AT —
&t

A oIk

B el

C kiirc)

D arell

Answer |C

Id 5

Question fFaieT oree / RUdaTd+ s —
3YHTT

A 3eTead

B Il

¢ didet

D 398

Answer |D

Id 6

Question e fIfAT Use-ToA & TE T3¢ H 9T T -
‘BL ASE FT T § ?

A e

B Ra

¢ S

D STFgT

Answer |B




Id

7

Question

frafaf@d 7 & T Use-YEfd F gaa HfSel

A FIRY

B S

C IETIR

D HIARY

Answer B

Id 8

Question | yrfaf@d arFg & v 3% A RU a7 R[pedr F & 39
g I Rfegd fifaw —
S O JE TR YgAT I T 38 faar S I A

A T aog

B Hgerd ATy

C s arey

D SIH U HIS gl

Answer C

Id 9

Question \grer & g HIT-T & 2

A AT, GaTH

B PR, TdA

C hejdred, hAdred, Hiaarey

D forg T FIeT, TohAT T el

Answer |C




Id 10
Question «ffaar 3mmerrer F 35 W §1 39 Iy & 33 W fvar g
JhR T gl

A 3hHB

B ThHP

C TR

D I FATAHT

Answer B

ID 11-13

Question Type Comprehension

Main Text In each of the following questions find out the alternative which
will replace the questions mark.
A QT T 9% we 7 & 3 A A § | et wge
TEH F Q1 &l # TF FEEew QAT T § a9 guy IA
F TF 95 ofcd ¢ | oF T RAFedl F & a8 Rwew g
g IIA & 9¢ ¥ AW FFaed 3@ @ |

Question Divorce : Marriage : : False : ?
dore : faarg : : Ied : ?

A True
e

B Lie
¢lo

C Fiction
heYddl

D Story




hglell

Answer A
Question Fire : Ashes : : Explosion : ?
3T9T: W : [ATpie ;2
A Flame
odrlell
B Death
C,(—Q
C Debris
HoldT
D Sound
egfer
Answer C
Question Goat : Bleat: : Doq : ?
g [AfATEr LT 1 ?
A Grunt
o I |
B Bark
Hiehell
C Howl
I ST AT
D Bray
ia("auo_'”
Answer B




Id
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Question

Pointing towards a person in the photograph, Anu said, “He is the only son
of the father of my sister’s brother.” How is that person related to Anu?

Teh &R H Ueh ehiad @l 3R SART HId §U, 3] Hedl & o
"gg AY TgeT o A1 & AT & ThAT YT §7, T8 Al 3]
fra geR gFafad g2

A Father
e
B Mother
HTAT
C None of these
SoTH U FIS 6T
D Cousin
TR AS
Answer |C
Id 15
Question | Painting towards a bag, Reena said, “He is the son of only son of my
grand Father.” How is that bov related to Reena ?
Ueh ofSeh ol TR® SART FXd g, Tl shgell § foh "ag A arar &
THATT Y7 &l IF 87| a8 oI5l el & fovd JopR Feaftd 2
A Cousin
T A
B Uncle
BISII
C Brother
IS
D None of these
SAH § PG LT
Answer |C




ID 16-17

Question Type | Comprehension

Main Text In each of the following questions, four words have been given out
of which three are alike in same manner, while the fourth one is
different. Choose out the different one.
AT T T IS NT H IR U oy ™ § Twd
dT Affaa e & 95 § Sef atar dar @ e g
e ereg AT R |

Question Choose the different word from the following.
e & @ et s g

A Sweater
TacY

B Shirt
AT

C Trouser
Crl

D Jacket
e

Answer C

Question Choose the different word from the following.
et & @ e s g

A Bus
99

B Truck

~




C Cycle
arsfeher
D Scooter
o

Answer C

Id 18

Question |If ‘BOMBAY is written as ‘MYMYMY’. How will “TAMILNADU” be
written in that code?
Teh e AW H I ‘BOMBAY &I ‘MYMYMY’ fol@r Srar g 34T
Hc ST H “TAMILNADU &1 & fer@r Sirem?

A TIATIATIA

B MNUMNUMNU

C IATIATIAT

D ALDALDALD

Answer B

Id 19

Question |In a certain, ‘DECEMBER’ is written as ‘ERMBCEDE’, which word will
be written as ‘ERMBVENO in that code?
Teh & ATST H ‘DECEMBER’ &I ‘ERMBCEDE’ for@r ST &
34 % # H ‘ERMBVENO’ f9 # & fohfehT &Is glam?

A BERNOVEM

B NOVEMBER

C EMBERNOV

D NOVBEREM

Answer |B




Id 20

Question |In a certain code, ‘MOTHER’ is written as ‘ONHURE’, how will be
‘ANSWER’ written in that code?
& fAfRTd Fe #M9T H ‘MOTHER’ ' ‘ONHURE’ for@r Jrar § |
34 Fe 9 A ANSWER’ &I & for@r Saem?

A NBXSSE

B NBWRRE

C MAVSPE

D NBWTRE

Answer D




ID

21-22

Question Type Comprehension

Main Text In each of the following questions a number series is given with
one tern missing. Choose the correct alternative that will continue
the same pattern and fill in the blank spaces.
T R T uRAF U FH e Sof & i § e
T 98 ofed ¢ | o Reedt 7 & 39 @ [eew @1 g
ST & Il Aol F IETEOT AT @

Question 25,75,35,70,45, .....7 .......

A 65

B 60

C 55

D 85

Answer A

Question 82,25,74,40,60, ......7 ........

A 65

B 55

C 60

D 72

Answer B




ID

23-25

Question Type Comprehension

Main Text Study the following information carefully and answer the question
given below.
A, B, C, D, E, F, Gand H are sitting around a circular table facing
centre. H is fourth to the left of B and second to the right of F. Ais
third to the left of C, who is not an immediate neighbour of F. G is
second to the left of A. D is second to the riaht of E.
A & A SR A eAAYaE afed qur & R gt
& IR A |
AB,C,.D,E,F,G dUT H T&k el A & IR d® hog hl
3N Heg Fh 86 § | HB & &0 dlar § a1 F & o
caU g | AC & &C JfIE § St F &1 9siY o181 & | G,A
& a6 gET § | D,E &% gEr g

Question In which of the following pairs is the first person sitting on the
immediate left of the second person?
A e I fohd 7A & ggell ST il hiad & TeheH
a0 ST ¢ |

A EH

B DB

C CE

D AF

Answer B

Question Which of the following pairs represents the immediate
neighbours of E?
A e I gEAT A § Hlrdr eA EHT IS B2

A DH

B HC

C CA




D None of These

Answer B

Question Who is on the immediate right of H?

H& TehcH i aiel 87

A E

B C

C H

D F

Answer A

Id 26

Question | Arrange the words given below in a meaningful sequence.

1. Society 2. Home 3. Buildina 4. Place 5. Flate

S o I el Fr vk ATIF FH H cIARTAT FW. |
g ATST RO 31.TAI  8.SFE Y. FelT

A 3,1 2 5 4

B 532 1,4

C 4,1, 3,5, 2

D 4,51, 3, 2

Answer |C

Id 27

Question | Arrange the words given below in a meaningful sequence.
1. Man 2. Boy 3. Baby 4. Old man 5. Dead
ST G I ersel @ T A& A H cIafdd . |
?.3MeHAT  Resh 3T ¥.gET 9. H{Y

A 3,2, 1, 4,5

B 2, 3,1, 5, 4.

C 4, 1, 3, 2, 5.

D 3, 1,5 2 4

Answer A




Id

28

Question | Arrange the words given below in a meaningful sequence.
1. Key 2. Door 3. Lock 4. Room 5. Switch on
I & I Usel P Ueh ATH he H cIATedd . |
.Ml QSIS 3.dTell ¥ FAT Q. Glelel

A 51,2 4,3

B 4,2,1,5 3

C 1, 3, 2, 4, 5.

D 1, 2, 3, 5, 4

Answer |C

Id 29

Question ' Which of the following calendar years is similar to the calendar of the
vear 2003?
fAfFraf@a & @ g a¥ &1 Heist a¥ 2003 & HesY ST g7

A 2009

B 2010

C 2012

D 2014

Answer D




Id
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Question | In a row of children Dipti is 9th from the left and Kashish is 13th from the
right. when they exchange their positions and then Dipti becomes 18th
from the left. What is the new position of Kashish from the right end of
the row?
gTal fr T gierd H GIfed & T S1a7 IR & 9 a7 g HiAer
T AT R IR { 13 @l § | 519 I 398 H 39T AT
dcold & o SIS I =T ST 3R & 18 af g SiTdr § , Shiferer
T GIAT 3R I AT TATT qAT31T ?

A 22

B 25

C 27

D 36

Answer |A

Id 31

Question | ) _ _

Find the next term in the following series.
726, X24,\V22,

AT S@er & 39T UAse Wi
226, X24, V22,

A T20

B W23

C K15

D J10

Answer A




Id 32

Question |In a certain code language, “TANK” is coded as 7-26-13-16, then how
will be coded the word CARGO?
RRET e TS F,TANK" & 7-26-13-16 & & & fo@r s
g,ar 34 T WIS A CARGOH! & for@r srwen?

A 24-26-9-20-15

B 24-26-9-20-12

C 24-26-18-20-12

D 23-01-9-20-12

Answer B

Id 33

Question ) ) ) )
In the following question select the figure from a set of answer figure that
can be formed joining the figures given in question figure.
fAFATITET IR H 3T 3Mhid & Th AT U HMhid A ITeT HL
o 99t 3 # QU 10 3iehst & ST a1 ST Hehell B

A




C ", rd
D : .
kN s
X
£ N .
/
X
o -,
Answer B
Id 34
Question | If the third Friday of a month is 16th what date is the fourth Tuesday of
that month?
Ife AE & dR Y HI16IRIE g, 38 A & TY HTeldX
A FIT ARG grem?
A 20th
B 22nd
C 27th
D 29th
Answer |C




Id 35

Question _ _ i . :
In each of the following questions, which one of the four interchanges in
signs and numbers would make the given equation correct?
(3+4)+2=2
fAFATTET Ui I & IR dealld H Shid-AT Teh deald f6d
U FHIRIOT T HIST P |
(3+4 ) + 2=2

A +and+, 2and 3
+ 3+, 2 3R 3

B +and +, 2and 4
+ 3R+, 23R 4

C +and +, 3and 4
+ 3 +, 3 3R 4

D No interchanae , 3 and 4
IS FeIdol al, 3 3R 4

Answer |A

Id 36

Question ) ) )
How many triangles are there in the figure?
few are o & Rt i dear & IdEd?

A 24

B 14

C 28

D 20

Answer |C




Id 37

Question | Find the number at question mark in the followina imaae?

e ofd # 99 Red W g&ar Ad Hifaw?

2 |9
? 128

A 48
B 65
C 32
D 69
Answer B

Id 38

Question |Find out the odd word/letters/ number/number pair from the given
alternatives.

fer v [oreul & ¥ {Que eg/avl/gear &1 Iaa Hifay

A Mohammad Azharuddin
AIGFAC 3TTgdeglel
B Sunil Gavaskar
Hailel IMTERT
C Dhyan Chand
EqeIde
D Yuvrai Sinah
PENE BT

Answer (C




Id 39

Question
If “@” denotes “added to”, “#” denotes “multiplied by”, “®” denotes
“divided by” and “%” denotes “subtracted from”, then which of the
following equation is true?
Iie “@” F Y “FAsAr, “# &1 7Y “IOT AT, “®” hT kIE))
“HIIT 3R “%” &1 37T “gear g, df Reafaf@d # & sia-ar
HHIRIOT Hel g7?

A 8@8®8#8%8=9

B 42% 26 ®13#2 @ 8 =46

C 19%84®4@3#4=12

D 31%4®2#19@3=4

Answer B

Id 40

Question |Four friends A, B, C, D are sitting in a coffee shop. A and B are sitting
face to face. D is not sitting face to face. D is not sitting next of A but can
see the facial expression of A clearly. B is talking to C who is sitting
opposite to him who are sitting together?
IRAT A, B, C, D U& HIUr o9 § &6 g1 A 927 B 3
AH 4S5 §1 D 3MHA HHAA HIs 781 ol D, A% 379Tel FAT W
A Yo & Rreq AF @ F TGt T TISC FT & 3T THAT
gIB , C¥ a1d &Y T gl it [ sua [Audia Sor &1 i - &
qry H dor g7

A Aand C

B Aand D

C DandC

D Aand B

Answer A




Id
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Question

In each of the following sentence, an idiomatic expression or a proverb.
Select the alternatives which best describes its use in the sentence.
The team put their plan into execution the very next day.

A Proposed a plan

B Discussed their plan

C Started thinking about a plan

D Started carrying out their plan

Answer D

Id 42

Question _ _
Select the correct passive form of the given sentence.
Show these visitors the butterfly farm.

A These visitors should be showed the butterfly farm

B You must show these visitors the butterfly farm.

C Let these visitors be shown the butterfly farm.

D Let these visitors be showing the butterfly farm.

Answer C

Id 43

Question |Each sentence below has a blank and each blank indicates that something
has been omitted. Choose the word that best fits in meaning of the
sentence as a whole.
Laxmi lost an important file and rather than confessing her __ she
blamed Sandra for losing it.

A respect

B image

C attitude

D mistake

Answer D




Id

44

Question

In the following questions, change the Statements given in Direct Speech
form into Indirect Speech or vice versa, with the help of given four
options (A),(B),(C),(D).

Radha said to us, “You will get your salary from your office tomorrow.”

A Radha told us that we would get our salary from our office the next day.

B Radha told us that we will get our salary from our office the next day.

C Radha told us that we would get our salary from your office the next day.

D Radha told us that we shall get our salary from our office the next day.

Answer A

Id 45

Question | Select the wrongly spelt word.

A hasty

B hasitate

C hazard

D hazy

Answer B

Id 46

Question | In question below has two blanks, each blank indicating that something
has been omitted. Choose set of words for each blank which best fits the
meaning of the sentence as a whole.

their golden year of love and togetherness, the couple  all

their guests at their fiftieth wedding anniversary.

A Celebrating, welcomed

B Remembering, asked

C Rejoicing, promised

D Commemorating, brought

Answer

A




Id
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Question

Read the following passage carefully and give the answer of the questions.
When you buy a car, examine carefully the important features of the
model you are considering. Many a buyer of the latest model has got into
trouble by buying a car too broad or too long for his garage. Further more,
a long car is too hard to manage in traffic and too difficult to park.
Another feature is the comfort afforded. Are the seats nice and durably
upholstered? Is there enough glass to give the driver a god view in all
directions, particularly to the rear? It should be remembered that the
heavier and the powerful car is, the more expensive it will be to operate.
High powered motors, require expensive high-octane petrol. The greater
weight means greater tyre wear and enlarged brakes. The old cliche is still
true, it is not the initial cost but the upkeep which matters.

According to this passage, the two factors that the buyer of a new car
should keep in mind are

A its price and size

B its model and upholstery

C its size and the comfort it offers

D its upholstery and glass area

Answer |C

Id 48

Question | Select the most appropriate word to fill in the blank.
Around sixty bands in colourful _ took part in the Notting Hill
Carnival.

A clothings

B apparels

C costumes

D dressing

Answer |C




49

Question |Choose the correct alternative of the following sentences.
He said, “I am reading my book.”

A He told that is reading his book

B He told that he was reading his book

C He said that he was reading his book

D He said that he is reading his book

Answer |C

Id 50

Question |Choose the option which gives the correct meaning of the phrases.
That's the last straw

A To be run out of the patience

B To beaVIP

C To be very weak

D To be exhausted with all the resources

Answer A

Id 51

Question | If 80% of A = 50% of B and B=x% of A. then the value of x is :
Ifg A &1 80% = B &I 50% & 3IR B = A &1 x% &, a x &l
AT ATd B

A 400

B 300

C 160

D 150

Answer |C




Id
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Question

Which number is 40% less than 90% of 100?
HiT AT I&AT 100 & 90% T 40% e grIN?

A 36

B 54

C 50

D 60

Answer B

Id 53

Question Zis what percent of -2

“gfcerd T & -

A 50%

B 33%%

C 52%

D 200%

Answer D

Id 54

Question |If X, y, z are three sum of money such that y is the simple interest on x and
z is the simple interest on y for the same time and at the same rate of
interest, then what is the relation between X, v, z we have —
T TRRAT X, v, z 3T YR & o y, Xl FTURUT AT JAqT z,
yahT TTURUT &ATST g1 37 gl eafaal 7 afe g& g qur aiffs
e AT g a x, y, dUT zH & F7 gl

A x? =xy

B xyz=1

C x? =xy

D y? = zx

Answer D




Id
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Question | A dealer is selling an article at a discount of 5 % on the marked price. If
the marked price is 12% above the cost price and the article was sold for X
532 then the cost price is (in Rs)
IS Tashdl IS a&] 3ifehcd HIAT @ 5% FHeldl W S=dl g T
3ifehet AT, HT HoT T 12% 310 g 3R a8 &g &.532 A
ST a5 @1 1 39 a&] &1 T Hed (H ) T g 2

A 500

B 525

C 505

D 520

Answer A

Id 56

Question |N is the greatest number which divides 1305, 4665 and 6905 and gives the
same remainder in each case. What is the sum of the diaits in N?
N T §98 a8 &1 ¢ S & 1305,4665 3R 6905 & fasnfara
gl ¥ 3R ude Ut & gAe A9t gred @ar & ar aarsy
&I N o 3ol &l 19T 4T g7

A 4

B 3

C 6

D 5

Answer A




Id 517

Question | A shopkeeper earns a profit of 10% after allowing a discount of 20% on
the marked price. The cost price of the article whose marked price is Rs.
880, is

Ueh GeahlelGR Ueh a&q] & 3ifehd Hed W 20% HT T & & dIq
M 10% T o AT &, 39 9EJ 1 HT e FI1 g {FaHr
3fehd Hed T 880 §

A 704
B 640
C 774
D 680
Answer B
Id 58

Question '\What is the HCF of 2.04, 0.24 and 0.8 ?
2.04, 0.24 3R 0.8 &1 HCF &1 87

A 1

B 2

C 0.02
D 0.04
Answer |D

Id 59

Question | Find the HCF of 306, 204 and 136.
306, 204 31X 136 T HCF ATd FHifav]|

A 17
B o1
C 34
D 68

Answer C




Id

60

Question | For salaried parsons, standard deduction for Income tax is being raised
from current Rs 40000 to Rs 50000. By how much percent standard
deduction is increased ?

AdTeN afFaat & folw, 3Rt & v ATdAs FHeldr &r
40000%. ¥ Fera 50000%. fHIT ST IET g1 HATS Feldr fohdel
gfderd 6T §7?

A 32%

B 40%

C 25%

D 15%

Answer |C

Id 61

Question | A train 270 meters long is running at a speed of 36 km per hour then
it will cross a bridae of lenath 180 meters in :

270 HieT &l Uk Ye@mar 1 36fhedT ufay ger T ot & Told
U180 HIX A Jol HI IR el H fohcell AT oA3am?

A 40 sec

B 45 sec

C 50 sec

D 35 sec

Answer |B




Id
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Question |Ravi had five subjects in his final examination. The maximum marks in
each subject are 100. If his percentage in four subjects is 80, and he scores
65 marks in the fifth subject, determine his overall percentage for the five
subjects.
W & g/ 39 o adiem & 9ra AT &) gde v &
quiieh100T| IfE IR AT & 3@h1 9ida80s,3iR urad faway #
gg6537h UTcd HLAT &,dr drar [awdr & v 38T T giaerd
fAuiia :S|

A 78

B 79

C 77

D 76

Answer |C

Id 63

Question |5 men can do a piece of work in 6 days while 10 women cando itin 5
days. In how many days can 5 women and 3 men do it?
5 Q&Y Ueh HH H 6 ol H T Fhd g, i 10ARRaT 380
1A & 5 feaAl H T Fohell §1 5 AgeNT 3R 3 q&W 38T Hre
1 forctel et & QT HN?

A 4 days

B 5 days

C 6 days

D 8 days

Answer B




Id
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Question | A shop keeper purchased a chair marked at % 800, at two successive
discounts of 10 % and 15% respectively. He spent X 28 on transportation
and sold the chair for Rs. 800. His gain percent is:

UH gHEGR UF HAl forgewr ifha Aed § 8008 | & HAN:
g€ FHA :10 % 315 % AFT TEaT § | I8 28I W
T T § 3 3/ TT 800 a7 AT &, 3HHT N wfded FAT
g7

A 40 %

B 30 %

C 25 %

D 14 %

Answer |C

Id 65

Question | The least number which when divided by 4, 6, 8, 12 and 16 leaves a
remainder of 2 in each case is:
dg ~gAaH F&dT F1 ¢ 99 4, 6, 8, 12 dUT 16 & HET ¢ W
g Tufa & 299 aar g7

A 46

B 48

C 50

D 56

Answer |C




66

Question | The smallest possible three - place decimal is:
el 3fehl T FIH BT FFHAIT: GAHT &I gl

A 0.012

B 0.123

C 0.111

D None of the above

Answer D

Id 67

Question |What is the area (in sg. cm) of a rhombus if the lengths of the diagonals
are 12cmand 14 cm ?
3 HHAGIHST I & ABel (I AT # ) FA71 g TG 38h
ot i gears 12 8T 3k 14 FhHex &2

A 42

B 168

C 84

D 63

Answer |C




Id
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Question

What is the age of A in a group of 6 students — A, B, C, D, E and F whose
average age is 16 years?

Statement I: Total age of B and D is 30 years

Statement I1: Total age of E and F is 31 years.

Statement I11: Total age of A is 10 vears.

6 ol - A, B, C, D, E 3iRF & #eg # A 1 3 7 &,
fSerehr 3itaa 3mg 16 av g7

FYeT |: BAUT D & Fel 31Y 30 a¥ g

FUA |I: EFUT FHI el 31 3198 gl

Y |Il: AdT Fer 31g 10 a¥ g

Only | and Il toaether are sufficient

% | vg Il & 9T gAIeq §

Only Il and 111 toaether are sufficient

% 1l 3R 11l T 9y 9T g

Any two of the three are sufficient

At 7 & SIS o & g3Ted §

All three together are needed
Al Tk HTYT 39Tk g

Answer

D

Id
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Question

A boy divided the numbers 7654, 8506 and 9997 by a certain largest
number and he gets the same remainder in each case. What is the common
remainder?

Teh oIS of 7654,8506 31X 9997 T&IT3T & Ueh ATad &2y
gear @ fJwiaa 5 afe v@s ufa § gae auwa g
giar & ar AV FAT g7

156

199

211

OO W >

231

Answer

B




Id 70
Question |Find the next term in the following series.
726, X24,V22,
fAFafaf@d s@er # 3T 2 @la:
726, X24,V22,
A T20
B W23
C K15
D J10
Answer A
Id 71
Question | M.Mukesh Goud has passed away recently. He was the ,
TH HHA I3 HT gl & & e g mar g1 a8 |
A Actor
3T
B Poet
hid
C Writer
[SECED
D Politician
TSl
Answer D




Id
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Question |Who took oath as the Governor of Madhvya Pradesh?
foraey AT U & TsIUTT & T F A9 o ?
A P Gopi Krishna
o andy geor
B M.Mukesh Goud
TH HH s
C Lalii Tandon
CICE RG]
D Ramesh Bais
AT 99
Answer C
Id 73
Question | In which city, 5th Dharma-Dhamma conference was held?
fFg AET H 9 af g7 9FH FAAT ATod har =am a7 ?
A New Delhi
s f&eel
B Guruaram
9
C Lucknow
o>
D Raiair
SIS EIIE
Answer D
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Question |Which ship of Indian Navy was arrived at Helsinki, Finland for a three
dav visit?
SIS AdT &1 Slardr T el fEadiy amr & v gafde,
fhetels agar am?
A INS Kolkata
TSTATH Shlelehldl
B INS Tarkash
BUATH dheT
C INS Vikrant
3meuATE fasd
D INS Viraat
ASTATH faRTe
Answer B
Id 75
Question | Which country has opened a 1,000-year-old Shawala Teja Singh temple?
fora gar & 1000 oty emaen der g AfeT @rer 87
A Banaladesh
CIErI )
B Nepal
GEIC]
C Pakistan
qriehedrel
D Bhutan
o
Answer |C




Id
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Question |One Nation-one Ration Card scheme has been implemented on pilot basis
in four States. Which of the followinag state is not part of this?
IR Tl # Aol IMUR W del AAT-del TRAeT HIS AlSTell ol19]
$r 15 & Fefaf@a & O si9 a1 asT 5T fear A8 §7
A Telangana
SECIGH
B Kerala
el
C Andhra Pradesh
3T 9cer
D Mabharashtra
HERTSZ
Answer B
Id 77
Question |Who took over as the Controller General of Accounts (CGA)?
foraer or@r AgIfadTs (TelT) & §F H IGHR T &7
A Girraj Prasad Gupta
foRTsT vame Irear
B S S Deswal
TH TH Serarel
C K Nataraian
& SIcIIoled
D Samant Goel
ATHT Il
Answer A




Id

78

Question

Who took over as Wipro chairman?
fraer Ao & 37egeT & §T H USHR THTAT?

A Anshu Prakash
31] GhIRT
B E L S N Bala Prasad
$ TS TH U ool 941G
C Prahlad Sinah Patel
ggdllG &g 9co
D Rishad Premii
FYG  GHoI
Answer D
Id 79
Question | Who took over as new telecom secretary?
fheel 5T qTEAR @RE &1 YGHR FHTAT?
A Anshu Prakash
3#%; YehTeT
B E L S N Bala Prasad
S TS UF U dToll YdIG
C Prahlad Sinah Patel
ggdll A8 ucar
D S S Deswal
TH g cerdard
Answer |A




Id
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Question \Who has been appointed as the Special Secretary to President Ram Nath
Kovind?
forgen Tsgufd TH A1y Fifde & QA dfaa & ¥ 7 Ay
forar arar g7
A Anshu Prakash
31] GhIRm
B E L S N Bala Prasad
S T TH U ol 941G
C Prahlad Sinah Patel
ygoe &g gcer
D S S Deswal
TH TH gRrdrel
Answer |B
Id 81
Question |Which country will waive entry visa fee for India?
HITHT & AR & TAT JaLr ST Yoeh AR HLEIM?
A Sri Lanka
HreTepr
B Bhutan
c\E
C Nepal
qTel
D Maldives
AT
Answer A




Id 82
Question '\Who has been given the additional charge of the counter-terror force
NSG?
forgen! 3Tdedrie T g TaIuds & 3fARed THR fGar arm
g?
A S S Deswal
TH TH &erare
B Rishi Kumar Shukla
W AR e
C K Nataraian
& SIcIToted
D Samant Goel
AT I
Answer A
Id 83
Question |Who has won Gold medal in 65kg category In World Cadet Wrestling
competition in Sofia?
foreer AT & faeg e ecl gfa@ar & 65 foheltamar g
# ¥goT gga Sidr 872
A Vinesh Phoaat
faerer wreme
B Sonam Malik
it Afeldh
C Babita Kumari
EEIGUETIRY
D Sakshi Malik
el Afelh
Answer B




Id
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Question | Who was sworn in as the Governor of Nagaland?
frae AEMAE & TsIUTT & FT H A9 o?
A R N Ravi
3R U 09
B Acharya Dev Vrat
A &g ad
C Satyadev Narayan Arva
gcded ARMGOT 3
D Kalrai Mishra
hoRToT T
Answer A
Id 85
Question |Who has been nominated on central board of RBI?
fPEer 3IRETS & Forg S5 H Afad fear T g2
A Atanu Chakraborty
37cle] Tshacll
B Sanijay Mitra
o faam
C Viiay Keshav Gokhale
fasrTr sherg arger
D Aiav Bhushan Pandey
ST §[NUT 9IS
Answer A




Id
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Question |With which, NITI Aavoa has partnered to promote women entrepreneurs?
forae ary, Afa 3maer  Afger 30cafAIT 1 gerar ¢ & fov
HTINERY & 872

A Gooqle

(LN

B Tik Tok
feh A

C Facebook

P}

D WhatsApp
cglcauyq

Answer D

Id 87

Question |What is the Name of Former RBI Deputy Governor who has passed away
recently?

WIS & qd B qTaelk 1 AH &1 § fStemr grer &1 7
frter g I ar?

A N. S. Vishwanathan
U, UH. [aeaemyst

B Subir Vithal Gokarn
g faged Mot

C B. P. Kanunao
Y dr shrefeTan

D M.K. Jain
TH & Sl

Answer B




Id
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Question

Who has been appointed as finance secretary?

forgent fad afda & &9 & fagerd fhar /@ g7

A Raiiv Kumar
ol FAR
B Sanjay Kothari
ot HISHT
C Nripendra Misra
o_'lcqra B2
D Pramod Kumar Misra
gAle FAR AT
Answer |A
Id 89
Question | Indian Railways' which zone introduced new 'pink coaches' for women
passenaers?
HRAT ¥e0d & g ST o Afger T3 & T AT Tefrel rer
A& fhT 87
A Northeast Frontier Railway Zone
gdieR HATT Yol Sl
B Eastern Railway Zone
qdt Yefd Sitet
C Northern Railway Zone
3 o9 S
D Central Railway Zone
HEY Jeld Sl
Answer A




Id
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Question |Who has been suspended by the Board of Control for Cricket in India
(BCC) till November 15, 2019?
fraer ARAT fhahe heiel AIS(EEEIAR) o 15 sAdsx, 2019
ds & forv fafaa &t fgar g2
A Virat Kohli
fatre sigelr
B Rohit Sharma
A AT
C Prithvi Shaw
gy
D Irfan Pathan
SY{Bled 9Tdd
Answer |C
Id 91
Question 2019 COTIF Cup was held in Valencia, Spain. COTIF Cup related to
which sports?
2019 COTIF &9 Jeiffar, T & 3mAfsid g3m an COTIF
%9 fFE W ¥ gafad g2
A Hockey
giehr
B Football
g \J
C \ollevball
c \J ? \J
D Baseball
CRICITCH
Answer B




Id
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Question

Ravish Kumar has been awarded the 2019 Ramon Magsaysay Award. In
which vear, Ramon Maasaysay Award was established?

IR AR H 2019 AT ATEE WEPR § FFATAT fohar am
gl W A0 WEER fhe ¥ & waria fear e )

A 1959
B 1958
C 1957
D 1960
Answer |C
Id 93
Question |Which ministry is observing the World Breastfeeding Week with a focus
on protection, promotion and support of breastfeeding?
HITAT HAATTT T & TI&0T, Ha¥aT 3R G 9T e
s A & AT fava T Hedrg & T 872
A Law and Justice Ministry
Flefel IR I HATe
B Farmers Welfare Ministry
fRaTeT HeATIT AT
C Aariculture Ministry
HY HAT
D Women and Child Development Ministry
Afgemr 3R T Tahra FAATT
Answer D




Id
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Question

Which state Government has launched ‘Save Green, Stay Clean’ campaign
for preservina the areenery and keepina the environment clean?

HITEr T TIER o gRATN & TIETUT 3R gATRUT & T
Wel & fav @9 Ao, T Fller AAIT & foham 872

A West Benaal
gGH d9d

B Uttar Pradesh
3 9T

C Madhva Pradesh
qET gear

D Andhra Pradesh
3T eRr

Answer |A

Id 95

Question |Which State has launched the ‘Vhali Dikri Yoina’?
P T F ‘cgrel &l AT dled T g7

A Andhra Pradesh
3T 9eer

B Uttar Pradesh
3AT YelT

C Kerala
ol

D Guijarat
IR
9

Answer D




Id
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Question | In which city, 15th meeting of the India-US Defence Policy Group (DPG)
was held?
fore e H HART-3ART T Afd Fg (Erdiet) & 15 dF doh
3T Hr aTS?
A Mumbai
Heg
B New York
=gqTeh
C New Delhi
A5 feeetr
D Washington
CHRE G
Answer D
Id 97
Question | Elephant population in the country is estimated at as per the
census conducted in 2017.
2017 # g3 S0 & 3TER & H gray & JTaey
el
A 29,961
B 29,960
C 29,964
D 29,969
Answer C




Id
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Question | Aadi Perukku* festival was celebrated in which state?
fre o & "3y Iee" ARR AT TT?
A Kerala
el
B Tamil Nadu
o)
C Andhra Pradesh
3T geer
D Telanaana
RECIGH
Answer |B
Id 99
Question |On which day, Lalit Kala Akademi, celebrated its 65th Foundation Day in
New Delhi?
frg o &t dferd el e & a3 fReel & 379aT 65 ar
TATAT EGad HAAT?
A 3 Auqgust
3 3HITET
B 5 Auqust
5 3IEA
C 2 Auqgust
2 3TET
D 6 Auqust
6 3TITET
Answer B




Id 100
Question \Which country has been designated by United States as "currency
manipulator"?
forg Sor @l @gFd T IARST A HIT Ahgere” Arfad fhar
g7
A Taiwan
GIEGIGH
B North Korea
3 hIfAT
C Japan
KIBIG]
D China
et
Answer D




